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If you are solving an exponential equation, your domain
0 , °°J_. That means your answer(s) can be any cea |\  number.

...but... YN
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If you are solving a logarithmic equation, X Always check for @ X -\-f-an EQ!.! <
nt solutions after you solve a log equation.

your domain 15( o m\ . That means
your answer must be a _?05 i -\-1 V €. number.

ArmmaEEd
R R o e iy Tl o B o S e B - R i e o g s i, e i o Bl N B gy P 0 ks B ok B DR A

B o el e e T B 8RS s L

i a w0 E e m B

Solve the log equations graphically. Be able to sketch the graphs before you use your TI.

a) log(x-4)=1 b) 3lnx=35
= \og ( x4 ) _3\Ax (5.24.9)
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.Solve the log equations algebraically.

¢) 3logx=log40-log5 d) Inx+In(x+1)=In2
o x” = \oo) - wlx(x+ D) 2 \n)
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) How long will it take an investment of $5000 to double h) At what rate of interest compounded continuously should

if the interest rate is 6% compounded quarterly? you invest your money if you want it to double in 3.7 years?
o0 > Seoo( |+ 24 4t 2.z\e” (3.7)
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